Name:
CC Geometry Honors
Proofs Practice
C
B
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F
E
Given: DA bisects ZBDF
L1=/4
CD =DE
Prove: ACDA = AEDA
B
2
) A E C

Given: ZA =/D
AE=CD
LAEF = /BCD

Prove: AABC = ADFE
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4)

Given: £C=4D
L1= /2
M is the midpoint of DC

Prove: CB = DA

Given: CD =CE
AE LBC
BD LAC

Prove: AE =BD
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6)

Given:

BC and AD intersect at X

Prove:

Given:

Prove:

AC=DB
LCAB = /DBA
12=/3

CX =XD

FiA = FiF
FiM = HO

M = A0

2 3
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Answer is a SA S proof.

Answer is an ASA proof.

Answer is an ASA proof.

Answer is aproof.
Answer is aproof.

Answer is aproof.
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